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1.

SSC Practice Set-3

An electric pump can fill a tank in 2 hours.

Because of a leak in the tank,it was taking 2%

hours to fill the tank. The leak can drain all the
water of the tank in how many hours?

s fag@ v et <ot &t 2 92 § WX 9ahdr 81 €t §

qﬁwmmﬁwmmaﬁz%aﬁw
39 feuma & €@t fove =2 # Uit g @ @rett & dad 87
(a)9 (b) 10

(c)101/2 (d)111/2

Find the marked price if the selling price is Rs
9250 and discount is 7 %%.

gfe feweit avg 1 fasht 7o9 9250 ®o ﬁaﬁ'{?:qw%%
TE T A IuHT 3ifha oI F1q HifoTT|

(a) 9000 (b) 8556.25 (c) 10000 (d) 9943.75

A certain amount of money is divided between A
and B in the ratio of 5 : 6. If B gets Rs 360, the
amount is

I3 o7 YT A 3T B & &te 5: 6 €1 d SWaAT 3ifha To9
Fa @i

(a) 660 (b) 560 (c)680 (d) 580

The length of a rectange is increased by 25%. To
maintain the same area, the breadth has to be
decreased by

fwet eI &t eaTg 25% ST &t St g1 ©ieTg @i fehaq
gfavia &4 o 9@ ff &ta o Fig afiads 7 &, ?
(a) 20% (b) 25% (c) 30% (d) 40%

A car takes 5 hours to cover 100 kms distance at
a particular speed whereas another car takes 3
hours to reach a particular distance at the same
speed. Find the distance.

F13 FR T fagiy 7 wX 5 92 & 100 . oot §

iR Us gEt I 36 T X U faey T w3 w2 o

Tgadt 31 g Fa wife?
(a)40km (b)) 60km () 70km (d) 80 km

A sum of 1200 is lent to be paid back in 5 equal
annual instalments of 264 each . The rate of
interest per annum is

1200 &t GV 3G & ATt & T/ 264 &t 5 T@T &t
qiftes fRydl § e STHT 81 aifties &T F1a ifeu?
(a) 6% (b) 8% (c) 2% (d) 4%

7.

©

10.

11.

12,

13.

Among below expressions which one can be
expressed as the difference of two cubic
expressions?

SUIH WGl § | hd SH5Teh @i & IHIT SHSTehl oh 3T=IX
i YHE HIA AT HEl S dhal 87

(@) x2+y3 +3x+3y () x>+ 23 + 3«

() x2+8x2 +3x =2 a2 43x2+3x-7

2 2
Ifa+2:—1thenthevalue ofa——b—ls
a b a
trﬁ{—+—:—1gia‘r“ —_a;rmamsq?
(a)l (b) -1 () O (d) 2

The line segment AB intersects the straight line
CD at B; AB will be smallest when ZABD is

@1 @UE AB WA @1 CD @i B fog W &t 8, AB
HeH BIeT a9 R0 99 ZABD feRaar grm?

(a)30° (b) 60° (€)90° (d) 45°

Which of the following is not true for a
rhombus?

ey & fou frafafga § @ &9-a1 saw a8 T8

(a) All sides are congruent

(b) Opposite sides are parallel

(¢) Diagonals are equal

(d) Diagonals bisect each other at right angles

If secB = cosd with 0° < 6, b < 90°, then the value
of sin(® + 0) is

Jfe secH = cosd AT 0° < 6,0< 90° o sin® + 6) HT
U AE &)

(a) 1 (b) 0 (c)2 (d) 4

The ratio between the vertical angle and a base

angle of an isosceles traiangle is 4 : 3. The value
of any one base angle is

fereit TmgfaaTg Fraior & vid @ior iR emEm Hivr &
a4 :3 @1 U 81 fREt UH SMEW HiuT & AN

qargu?

(a) 18° (b) 54°
In AABC, /B=90°and BC =
measurement of /A
AABC, /B = 90° 3R BC =

U9 F{G S|

(a) 45° (b) 90°

(c) 72° @ 10°
J3 AB. Find the

V3 AB ® | ®IUT /A &

(c) 30° (d)60°

WWW.Guptaclasses.com All the Best by :

Alok Gupta Sir X Ritu Gupta Mam
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14.

15.

16.

17.

19.

a and b are irrational numbers such that
a+ b = g is a rational number; then a - b is

a 3T b TH Ui =W § 6d a+ b = ¢ uf@"
W& §, d a— b &1 EAM?

(a) always rational (b) sometimes rational

(c) always irrational (d) some times irrational

The height of a right circular cylinder is twice
the radius of the base. If its height be 6 times its
radius of the base, then the volume of the

3

cylinder will be 539 cm ® more. Assuming 1 = ?

the height of the cylinder is

forelt o gt S it SHATE ad | SHa! e @ gt
?1 Afc SUSAt UK a1 @l BET | 6 TAT & O Se @l

AT 539 V.3 faem gEm ﬁmﬁ@ﬁin:%,
S &t HaTg Farsu|
(a) 5 ecm (b) 7 cm (¢) 9 cm (d)11 cm

The average age of 40 students of a class is 16

years. If the average of 24 students is 15% years

and that of the 15 students is 16% years, then the

age of 40th student is
40 foenedfal =t us wanr oMg 16 ¥ Ifg W | 24
ﬁmﬁﬁﬁaﬁmmw%aﬁﬁaﬁ?mﬁaﬁﬁﬁ

16%&:‘@, @ 409 fanfera #i 3y sAEU

(a) 17 (b) 16 (c) 16.5 (d) 18

A contractor has got two orders A and B. On one
(A) he spends Rs. 25,000 and makes a bill of Rs.
30, 500. On the other(B) he makes a bill keeping
a profit of 20%. Which of the two orders is more
profitable to him?

Tt 3TN & A and B 3MET et 370 @ w& (A)
W 3ET ®. 25,000 @ fRa I €. 30,500 T fo
TR TER (B) WX 3T 20% W1 W@ g foret smmam 39

Tl § | SITET hEEl e JMET Uy gar?

(a) B (b) A

(c) Anor B (d) None of these
If 972 = 240 + 9% the value of (8x)% is
e 92 = 240 + 9% @l (8x)* HT U AT
(a) 1 (b) -1 (©0 (d) 2

Two circles with centres P and Q touch each
other extrenally. A straight line drawn through
the point of contact intersects the circle with
centre P and the circle with centre Q at B. Then,
which of the following is true?

T g9 & &= P i @ ¥ oY @ & gk & wul
FA B T 6 3@ S Wy A A fog | Sl
el At §, A fog WX &= P a6l 99 @i &edl ¢ i B

20.

21.

22.

23.

24.

25.

fog W %= Q et g &t Hredt §1 Frefefaa & & @@t
EL Rl GIECT
(a) AP = BQ
(c) APLBQ

(b) AP||BQ
(d) AP =1/ 2BQ

If a2 + Lz =7 and V1 and V2 are the minimum
a

and the maximum values of a3 + — ,then V2-V1

is equal to"

e a? +——7mnV1 aVv2al +_a?rq=|a'qaﬁ1

a&mmg‘r AV2- V1ﬁ1=r|”aﬁa?rﬁﬁfam%w
Fm?

(a)-36 (b) 36 (c) 72 (d)-18

A 25 m longladderisrested on a wall. The foot of
the ladder is 7 m away from the wall. If the end
of the ladder(resting on the wall) slides down
4m, then how far will its foot move away?

TS 25 W. ot Higl T SaR & "R ot 81 gt &t
ug far & 7 /. gX 71 Al €t & vitd W (S Farw
U &t ) 4 T e fawe Sar @ @ STt uTg fhat X
Tagehm?

(a) 5m (b) 8m (c) 9m (d) 10m
Instead of multiplying by 25, a student
multiplies that number by 52 and gets 324 more
than correct answer. Then that number is

g faendf forel T & 25 | UM & & &9 52 @
TOT T AT § R SHSAT S I A 9% O W A
324 3o ¥ 9% W& F4q B2

(a) 15 (b) 12 (c) 25 (d) 32

If a number is decreased by 10%, it becomes 54.
To make it 72, it should be increased by

Tfe feredt €& H 10% 9 FT fEan 93 @ 98 54 1 5@
72 S & U R semT grm?

@21%  (b)18% (o) 200% (d) 20%

12 men complete a work in 9 days. After they
have worked for 6 days, 6 more men join them.
How many days will they to complete the
remaining work?

12 =fw foet &M &1 9 fad # g0 & §, 6 faq &
FH & UG 6 Ak A IHA & Sd g1 Y &
T HY 4 fhad o &1 a9g oenm?

(a) 2 (b) 3 (c)4 (D5

The ratio of money with Ram and Gopal is 7: 17
and with Gopal and Krishna is 7:17 . If Ram has
Rs. 490, Krishan has

W 3 TUTer & sfier &9 @1 31FUTE 7 :17 § R ute
iR oo & sfter T QU 7:17 B IfE 19 & U1 & 490
R @ Ho fea &= T &2

(a) 2890 (b) 2680 (c) 2330  (d) 1190

WWW.Guptaclasses.com All the Best by :

Alok Gupta Sir X Ritu Gupta Mam



11unit =11 x60 = 660Rs.

4. First Method : 25% = i

AT T &5Thel = o X Hlo=[x b
old new
l 4 5
b 5 4
A=Ilxb= 20 20

| a"h case U Area constant = 20 unit %\I

ERUTANI(S]) = A- P = 120 %0
o X W X I

100
1200 x rx 5

100
10=rx5
r=2%

Hlo &S =

120 =

I (a+b) FW@E @
a® + b3 +3a2b+3ab? @ T,

SSC Practice Set-3 3
— ANSWER KEY
1. (b) 2. (c) 3. (@) 4. (a) 5. (b) 6. (c) 7. (d) 8. (c) 9. (c) 10. (c)
11. (a) 12. (b)  13.(d) 14. (c) 15. (b) 16. (d) 17. (b) 18. (d) 19. (c)  20. (b)
21. (b) 22.(b)  23.(d) 24. (a) 25. (a)
HINT & SOLUTIONS
1. f@we uw+fem oo em EE @ RN | qease poA_20_¢
P (P+R) &|dn) (Capacity) i le 24
T 2 W 2%‘&% (2, 5) &1 L.C.M. ; T case T b=7=?0=4
T 2 2@ 10 AR HFA 5 ‘11
2 ! 2 - 20%
ga 5 4 | 5
P=5 i Second Method :
P+R=4 i 25% =+
R=-1 i 1)
(mﬁ%aﬁ&@m%ﬁmﬁzﬁaﬁ@?ﬁaﬂwéo i :':fa" Seutit
@ (R) SR <t &1 Welt 3 U0 | o JHa i "
R e | 1= = 20% %
o B wE e i 5
_10 _ 10 =3 i - Area constant &
1 ! -, St <o B 9fis €2, iRt 36 et &5 1 A FHEAT B SR T
1 | e
:1—;%:1—;*% o ek @ @ - 8
. qaT
Tz =5 i 100 km
=40 | 17 5n
( @2 m WM@ (i‘é ); ?ﬁ;ﬂ?ﬁ %) i m a; rﬁq Sl =90 TR/ o
! &R
sp(ﬁmao.)_éxo 3=37 | S
37unit = 9250Rs. ! E,_\T’T _ o
Lunit = 9250 _ : ak
unit = 3—7 = 250Rs. : a1 = 20 fwdt/gva
40unit = 40 x 250 = 10000Rs. i = = j;a ; Rl
. 1 = X
S, = foha Fo = 40 unit = 10000 Rs. < = 60 fifo
3. A : B total (Fc ¥ '
5 : 6 0?1 § | B. TETEA (P) = 1200
Sunit = 360 | ﬁwm(A) = 5x 264 = 1320
1unit = 60Rs. i 264 15 fhed = 1320

3 314 ? fF cube (5F) H 2 IR 3 3 H HEHEA 7
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4 SSC Practice Set-3

. option (c) 3T option (d) T TS a9 3AfHH 2l
Take option (c)
x3+3x2+48x-2=x3+3x2+3x+1-2-1

cosO = sind
Le., 8= d=45°
sin(@ + &) = sin90°=1

1 a1 3R 1 5@ -
c-pd - 3 12. WHT A ABC ®WfgaTg A fed AB = AC
! ! A
(Perfect cube) Ui ¥9  qui o9 =&
Option (d)
32 +8x-T=x2+3c2+3c+1-7-1 B L
1 e 3 1 5=
(@415 8 Z/ABC = Z/ACB
J 1 ZBAC : ZBCA = 4x : 3x
qui B9 qUi ¥ satisfied. . ZBAC : ZABC = 4x :3x
b A o T IO ST AT = 180°
b a S
a® o _,
b a '
Let g=x B4 e
If . 4x + 3 +3x = 180°
x+=-=-1 [Sox+-=-1x°=1] 10x = 180°
X X &
YT SR = LABC = LACB = 3x = 54°
a
bl |
b3 13. First Method :
ad = b3 AABC—
a3 -1b3 =0 9 43 90°, BC =3AB, ZA="?
2 2 3 3
a__b_:a —b :gz() Ans.
b a ab ab
9. A
C4l3—D Let AB =x, BC =

AB T9d BT B, 3 98 CO. R o 81N 4BAC—%C A
ZABD = 90° tan@ = o= = Y¥
X
10. wwogys & faswvul steR & & tan® = /3 = tan60
D C 8 =60°
Second Method :
0 Let AB = x @9 (then) BC = /3x
A
B
A B X
1. AB = BC =CD = DA -
2. AD||BC, ABJ|CD g V3x ©
3. AC = BO 30° 60° 90°
4. a = B fawut o gafgyses N
5. ggfgg AfFT AC # BD x Bx 2
- \/3x o TR 9Tl = 60°
11. secH = cosect £A =60°
1 1

14. 3 UFHT A &1 F<T RN AT & grm

cosB sind
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SSC Practice Set-3

15. Case-1

H=2r

l
—r —»

A = nrh
vy = nr? x 2r
vy = onr3
Case-II
I
6r=H

l
—r —>

AT (vg) = nr2H
= r? x6r
Vg = 6nr’
Vg — U1 = anrd
A.T.Q. (F¥AIHER) -
vy — vy = 539 T3
6nrd — 2nr® = 539

4nrd = 539
4x 22,3 _ 539
7
4x 213 249
7
8r3 = 49x7
3:7x7x7
2% 2% 2
7
r=—
2

Height=2r=%x2=7ﬁ1ﬁo

16. 40 faenfori 1 3w o1y = 16 ad
40 Tt &l et 3T = 40 x 16
= 640 I

24 ferafefal = siverd @iy = 15%61&

24 Tornfof=ll &l e 3T = 24><(151

hl
21

1)
:24><(15+—
21

=24><15+24><%

=360+12
=372 94

15%@6{%%&@:16%&&
15ﬁmfﬁﬁaﬁwm=15x16§

3
:15><(16+g
31

17.

:15><16+15><§

=15% 16 + 10
=240+ 10
= 250 a4
24 x 15 = 39 fa=nfe =t Fa 1
=372+ 250
=622 99
40 fornfoll =1 $o1 g = 640 =H
- 40 9 B &I 3 = 640 - 622 = 18 T8
IAET A AET B
g = 25,000 20% 9
foat = 30,500

Y = 5,500

o
9% = — x100%
ECE]

5,500
25,000
= 22%
AR = 22%
B = 20%
A W A oy

% 100%

18.

9%%2 = 9240 4+ 9%

9%¥+2 _9¥ = 240
9%.92 _9% =240
9% 92 -1) = 240
9%(81-1) = 240
9%(81-1) = 240
9% x 80 = 240

9% =3

3%)* =3t

32x o 31

18.

Y
9a e = P 2,

AP = PO = radius = r; (let)
AAPO ¥-
Afe <1 oY SRTeR 1 9k | o 107 ot SRR
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SSC Practice Set-3

T fEe ¥ Q e—
OQ = @B = radius = ry (let)
o~ = N
B
0=r (Wﬂ'ﬂ'@ HI0T)

A Q
P>><<B

Z/PAO =0= ZOBQ =«

Z/PAO = ZOBQ (3 TH=R 10T B

A
P
B
AP || BQ
20. a2+L2=7
a
1 =742
a
a+1=3
a
afg a2+i2=A
a
= e+l =JAt2
a
ScH a+1=3
a
T, 3l —@3-3@9
3
a
a at =x
a
qd, a3+i3:x3—3x
a
a? + =279
a
= 18 (Max value =vy)
SE| a+tl=_3
a
1
a®+ = =(-3%-3-3
a
=-27+9
= —18(min value =vy)
T FTA B—
Vg — U1

=18-(-18
=36 Ans.

21. First Method :

vJQ&\‘)/’\A
o

7%

Cle— 740 —B
AT EE = AC = 250
AB = §&R
ZB =90° B
AABcfrtngamﬁwuﬁa
AC? = AB?>+BC?
252 = AB? + 72
625— 49 = AB?
576 = AB?
AB'= 24 iX
S Wit 4 e = g S 2 —

C
9 Wigl A',C' T TR w4
- T8 C 9O F e faus s
gl sl Ao =fixed= 25Hio

AB = 24 To
AA' = 24 Hio
A'B = 20 Ho
TEATTRY
Aq
25 20
7 B
A'C'? =A'B%2+BC'?
(252 =(20)2 + BC'?
625- 400 = BC'?
BC'? = 225
BC' =15 Hio
BC' = BC +CC'
15=7+CC'
CC' =8 Tito
Higl fggent = CC' = 8o A
Second Method :
W C& A W Tl Lt B 25

C 7 B
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SSC Practice Set-3 7

25 7 24

=60
l l l  —Triplate (+ ZB =90°) A HE& = 60
AC BC AB
TN HH AT A 96 & C T C' I 9IS i 3N faqast -
A +
it
A'I4 i a@ﬁﬂﬁzgxloozzo%
25 Second Method :
HAHTEE = 100x
o = = 10% FHHH R = 90x
A'B = AB - AA' 90’6:21
A'B =244 =20 To x=o0
ZA' BC' =90° , 54
AA'BC' = Triplats AATE = 5% 100°=100x
AC AB BC_ qyiate — 60
\ \ 60 ¥ 72
25 o 20 Ho 15 Hio T = 12
BC' =15 TR = lé‘iifxloo%
BC+CC' =15 T Ho
, 12
22. First Method : = % x 100
A e = x — 20% Ans.

25 9 TN A W HESA = 25x
52 ¥ TN A W & = 52

24. =f¢ 6 foT aveT 6 Ffo wfiet 7 fhe wd At 12 =fe

TEHITER 3 fe7 # 9w & & wd, AR oW G @™
5% — 95x = 324 (12 + 6) = 18 AfFTAT St HTT Bl
27x =324 M1Dy _ M3Dy
x=12 W1 W2
T = 12 12><3:18><D2
Second Method : w w
T T = 1 unit - Dy =2fd ‘
@ , : 31eiq 12 feT § 18 =afe 9 el K ol
unit Unlt
P @ o

- M @ ? faT 12 = 3 a7 B e e

3teere = 27 unit

27 unit = 324 . .
b 25. W : O : HET
lunit = === =12 Ans. 7 i .
27 — (3T W W)
23. First Method : 17
10% = L Ty @ 17yq
) 10 Ty ¢ 17417
T HE =9 49 . 119 : 289
9unit = t'gi 49 unit = 490
1lunit = — 1unit=ﬂ=10
9 49

10unit = % x 10 FUTHIE = 289unit= 289 x 10 = 2890 To
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